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QUESTION 1

Which two are NOT default start and end events in the Processes feature of Oracle Integration Cloud? 

A. SOAP start and SOAP end event 

B. Folder start and None end event 

C. Message start and Message end event 

D. Task start and end event 

E. None start and end event 

Correct Answer: AD 

https://docs.oracle.com/en/cloud/paas/integration-cloud/user-processes/define-process-start-andend.html#GUID-
E3E20D7C-D135-419C-8750-F8D9147590D8 

 

QUESTION 2

Which Process type should you choose to model non-sequential process type in Oracle Integration Cloud (OIC)? 

A. Adaptive Case Management process 

B. Structured Process 

C. Dynamic process 

D. Unstructured Process 

Correct Answer: C 

https://docs.oracle.com/en/cloud/paas/integration-cloud/user-processes/using-processes-oracleintegration-cloud.pdf 

 

QUESTION 3

What are two key benefits of Oracle Web Service Manager (OWSM) in the management and security of Web services
across the organization? 

A. Security is controlled by the developer of the service and this gives greater control to the development of the service. 

B. OAuth services are used for REST based services. 

C. OWSM provide a framework that is externalized and declarative outside of the web service implementation. 

D. Developers no longer need to understand security specifications and security implementation details. 

Correct Answer: CD 

https://docs.oracle.com/middleware/1212/owsm/OWSMC/owsm-intro.htm#OWSMC110 Reference:
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https://docs.oracle.com/middleware/1212/owsm/OWSMC/owsm-intro.htm#OWSMC4166 

 

QUESTION 4

Which four are states that a device can be in throughout its lifecycle? 

A. Activated 

B. Decommissioned 

C. Disabled 

D. Saved 

E. Deactivated 

F. Registered 

Correct Answer: ABEF 

https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/developing-applications-oracle-internet- things-cloudservice.pdf 

 

QUESTION 5

Which three actions once they have been configured are allowed to be repositioned to another location within the design
canvas of an orchestration style integration flow? 

A. Stage File with Write File operation 

B. Stage File with Read File in Segments operation 

C. JavaScript Call 

D. Stage File with Read File operation 

E. Switch 

F. For Each 

Correct Answer: AEF 
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